PART .y

(Vocational Component e General Stream)

(85D wdmyb < mdlay Wl / Tapil & English Version )

gre Saray : 230 wenfl Cpyib | [ Quorss willQuenaer : 70
Time Allowed : 2 : 30 Hours ] [Maximum Marks : 70

ifleyennast : (1)  syevengsy Heanrés@nn oflwrs ueumd s drargn erenuGenan
&Iﬂ.urrr'l:i,g,]d; Qs nereray, oFe0LS @eonulplilblean, Sienné
samamanfiuiumenf_ 2.1 amig ITES GsfeflEsayLb.

@) Bon sdwgy smuy evdes LLECL TEsUFHGD.
2y Gamg Baush@in UwgL@As CouamB. ULhisd aamruFDHE
Quendlé UwenLRdseyib,

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.
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Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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Cauam(pio ?
(B) No Value
(A) No Data
(© NoF () No Color
o
To remove the lﬁghﬁghﬁ"'g after selecting the text, which option is to be selected from
color palette 7
(A) No Data (B) No Value
(C) NoFill (D) No Color

oL ey e copi Lt BB Qsrirflan g awy wiph G g
L sréseseray @E560 7

(A) 15 sEab (B) 05 sm@aw

©) 1 siEb (D) 1.25 sigan

In StarOffice Writer document what i the default left and right margins ?

(A) 15 inch (B) 05 inch

(C) 1inch (D) 1.25 inch

Si_LaeansCaride, Agriéfluns oda yeraapamar Gy
HEnLpLILNT

(A) mereTenmEd (B) euflenssar
(C) wrly (D) @uywd

A continuous group of cells in a Werksheet is called as :
(A) cells (B) rows

(C) range (D) proup
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M Ly et gD ?

(A) =SUM(AT+A)

() =SUM(Sheeth.AL; Sheetl A)

(©) =SUM(Sheetl, B4:C4; Sheet?, B:Cay
(D) =SUM(Sheetl.Al; Sheel2. A1)

To add values in cell Al of Sy
eetl A | tostore the result in A3
Sheet2, which 3D formula can be u:;:s?m of Shecl2 3072 DRSS SR

(A) =SUM(A1+A2)
(B) =SUM(Sheetl.A1; Sheell.A3)
(C) =5UM(Sheetl, B4:Cd; Sheet2, Bd:C4)

(D) =SUM(Sheetl.Al; Sheel2.Al)

greneud GHEED Data eran Gamd ahs Qaraddimps umHapg ?

(A) Datum B Information

(C) Data (D) Data type

The term data comes from which word ?
(A) Datum (B)

Information

{C) Data (D) Data type
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g (B)  udye suflenswrdsn
©) wflsoms D) ansfse

Sorting of more than one field of a Table at the same time s called as -
(A) Database (B)  Multiple sorting

(C) Report (D) Filtering

s HippuLs CamiLse FuULELL alg aignol@us Qeram_grEh ?

(A) MPEG (B) NxVIEW

(C) JPEG (D) GIF

Which Image files are a lossy format ?

(A) MPEG (B) NxVIEW
(D) GIF

(C) JPEG

g Quigsrer flapsgison pasED ?
(A) Shift (B) Tab
© Alt (D) Esc
Which key is used to end a presentation ?

(A) Shift (B) Tab

(C) Alt (D) Esc
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Cr+ -, SPSETED The AL o fNeng Heniot sHp016G 2paflng 7

(A \v )

D) \n
Which of the following escape sequence cgn be used for Horizontal tab in C++ 7
t U

(A) \v

(© \a

(B) \t
© \a (D) \h
Spssramuenhla ‘m -en LY wrg 7
nl=7, n2=8§, m=(nl>n2) ? nl:n2;

(4) 8 ® o

(o) 1
Find out the value assigned to ‘m’ where n1 =7, n2=8,m=(n1>n2) ? nl:n2;
(A) 8

© 7

(B) 0
< 7 (D)1

srhisdr Eesunm senwssuu@damean

(A) wmrhled (B) wiiymaser
(C) EhCuwisar (D) erpssIsaeT
Strings are called as :

(A) Constants (B) Literals

(C) Identifiers (D) Characters
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12. wyyflwsha CUTS q_ﬂ,&m(}m Bobew Blaéswésd Blévargy
Siepssu@dpg 7

(A) aflesaiuc QWES@@ B swmihue Geng sy
© epiuaL GHaEEY (D) smedsain . Benézy
. is cal "
During inheritance the existing d255 5 ¢3lled as

{A) Declared class (B)  Abstract class

(C) Base class (D) Derived class

13. erg QummarCrnss ;Slu'ama'as;i;gﬂﬁ Sz Oueniwres uaays SmnEh 7
(A) srey wepliy (B) wryfob
() zep Cururssd (D) &ymeuiorés
Which is the key feature of (Object Oriented Programmings) OOPs ?
(A) Data hiding (B) Inheritance

(C) Encapsulation (D) Abstraction

4. vEsjgal duuiduraesnd aigme Wadambure uyBowsoas
CaranLg 7

(A) pren (B @55

© Brand (D) qpéngy

How many main steps are involved in Medical Transcription ?
(A) Four (B) Five

5 . (D) Three
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Illegal access to the network or computer syster ;. called 85 ¢

is ca :

() Accessibility
(D) Data Management

(A) Cracking
(C) Insecurity
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ﬁ@ﬁ@!lb 2p) flenéa@nie Eﬂml—u-lﬁﬂéisauhl ojeumibla ehlenm ereim 24 -&®
sermauns eflen weflEsayn, pim.

Answer any six questions, in which question no, 24 j5 compulsory-

16.

17.

18.

19.

Qesrh@suarssd aeanprd e ? Qaplsudés TCsBID Brar®
aPESIEET_([HEET SH(HE.

What is Word Processing 7 Give any two examples for Word Processors.

saaliy, SiusEHiuy erdmprd ererer ?
What is Header and Footer ?

Sl LeuenampFnatle) SreyEenar ereueuny UHOLMLG, Qsdieumis 7

How do you edit data in the Worksheet 7

Blén i L_euenans @awe eraémprd eremen ?

What is an Electronic Spreadsheet ?
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W 2 gomppn Gaisd
@ e mogmassd
Write short notes on :

(1) Morphing

(2)  Warping

2. Qupsag uenll B gl IHPPDEG 1ingyg,

What are the rules for function ouerlﬂilding ?

2. udgimaIgs erénpne eréran ?

What is polymorphism ?

23. &L @ser aranug wgl ? TOSHEETQ 55

What are pointers 2 Give example.

24. 2 anayenLw Sevgyellen 9enamenf] uETeEeng Gradient -D@ ereumy Wby ?
How do you change the background color of your slide in

to Gradient ?
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aGsaib =ym cflenmés@née el walssan. dam o 33 -&@ semmqluns
GﬁlmL_uclﬂé;csequ. 6x3=18
Answer any six questions in which question no. 33 is compulsory.

25. evLmit e enplflér 2 drar vatay usf Basaismar ojeuhdar
sllenslivams Gpés el en L gwe@s.

List the various types of paragraph alignments along with their keyboard shortcuts in
StarOffice Writer.
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Write short note on types of coll referencing i g1 ofice CaI°
Y Sy Office '
28, SUQ) WHPD Bsad uhdl Ny e @y,
.

Write short nole on Data and Information,

. Qg SU g sEphE D@
29, @ugSLYSEREGD, dilarcudsEni@n o drg Galyun@mnil wrenau 7
What is the difference between Filters and Query 7
+ ory

30, @EU@TLIGI-GT SLL@AT @MU () M“ﬂ'l'_@l_ﬁ.ﬂ TS5

Write the Syntax of Type definition with example

1. C++ -@ Qewihenmy erenpred erevar 7 Glawdanpsafler pETEnDEET wiranal 7

What are functions in C++ 7 Whal are Uhe advantages of function ?

32, g @iy ueys :
(i) eNawder pawrss
(i) mis Hlod
(i) sefCQurd sreurdsid
Wrile short note on :
@ Piracy
(i) Virus
{iii) Data Digitization
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voii Innln()

i
for(Int l=0yieti;ie 1)
wout=<gh|i)
for(int jua;pougy)..)
vout<=gh||}
Kotoh();
}

What js the vutpul of the following program 2
Hnclude<fontream. hs
#include<conlg, b
char eh[] = {'a’, b, t¢r, 'd’, e, s
void main()
{
for(int 1=0;i<5;1++)
cout<<ch[i];
for(int j=4;j>=0;}--)
cout<<ch[{];
- Ml:
; i
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5x5=25
wer all the questions.

g,f_L_t'Fﬂi Qe Quﬂ@@ WGi.IGurrg Wb Sepige sl Qaweumis ?
2|00

SILL USSR GUig @bl L Ui (il eniyflg g A @gllbl-'l-""'mﬂé”
Ceuenai&aT ereman ?

How will you correct spelling errors while typing the document ?
OR

What are the various functions of the icons in the Table formatting toolbar ?

@i peode srdle Qurmer Csirssd smedl el gerar
EnbuLEsmer eflaul.

2160605
S Leuenemrd Qawellwre cllenenuyd Hemeniosener vl dBs.
Explain the different icons available in Insert Object toolbar in StarOffice Cale.
OR

List the advantages of using Electronic Spreadsheets.
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#Hnelude<lontrenm, hy .
pinclude<conio. h>
clnss distance
{

int feet, ]nch“i

public:

void diutnnce_auixn{int £, int g

{
feet=f;
inches=i;

1

void display()

l
cout<<“yn Feet

"<<feet<<t\t Inches :"<<inches;

1

distance ope rator+|distance dz)

{
distance d3;
d3.feet=feet+d2.feet:
d3.i.uches=[inchu+d2.im:heal%lz;

d3.feet+=(inches+d2.inches)/12;

return d3;

ol Lt |



14
1372 (NP)

void main()

{

clrser();

distance dist_1, dist-2i
dut_l.dlstnnce_aaslgﬂ!m'u];
dlst_z.mmnc.,_mignm.l];
distance di“jqug__udlst}i
dist_1.display();
dist_2.display();
dist_3.display();

getch();

i

() vellEuulL Qeup@hlew S wrand srers
(i) uweflliguulL opliyé Ceupamblar peraugene eT(pEIs

(iii) verflbigssiLL Aeup@iuie vwaLESSOILL Beter QruCani9sefiar
Gamd wrg ?

(iv) vefifigssiul e miyé Qewpsmdos QuiGn spblerer eT(WpSeyD

(v) GuGa Gar@asiu@Gerer fiyeler Qeuafluii e erpss.
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Explain different types of Databage

OR
Read the following program and angy, th polow :
8 . T il i
ginclude<iostream.h> Westions g~
#include<conio.h>

class distance

{

int feet, inches;

public:

wvoid dtstance_nssign{int f, int j)

{
feet=f;
inches=i;
]
void display()
{

cout<<*\n Feet :"<<feet<<*\t [nches :"<<inches;

]

distance operator+(distance d2)

{
distance d3;
d3.feet=feet+d2.feet;
d3.inches=(inches+d2.inches|%12;

d3.feet+=(inches+d2.inches)/12;

return d3;
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